.

NAME:  …………………………………………………………….

Pressure 

1. Explain carefully why a person will make holes in a wooden floor when wearing spiked running shoes but not when wearing flat shoes.

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

2. A crate of drinks weighs 2000 Newtons. If the area of its base is 0.5 square metres what is its pressure on the ground?

………………………………………………………………………………………………………..

…………………………………………………………………………………………………………

3. A boiler contains steam at a pressure of 200 000 Newtons per square metre. If the area of one end is 1.5 square metres, what is the force on this end?

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

4. If all the air is pumped out of a can describe and explain what happens to the can.

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

5.  If you dive to the bottom of a swimming pool what happens to the pressure on our ears?

…………………………………………………………………………………………………………

6. Explain what difference you would have noticed in the pressure if the pool had been filled with mercury instead of water.

…………………………………………………………………………………………………..

7. A weather balloon, partly filled with helium gas is released from the ground and rises through the air. Describe and explain what happens to the balloon as it gains height.

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

8. The diagram shows a liquid filled barometer that is used for measuring atmospheric pressure. (Shown at sea level.)

[image: image1.jpg]



a. What is the atmospheric pressure in cm of liquid?

…………………………………………………………………………

b. If the atmospheric pressure goes up what happens to the liquid level in the tube? Explain your answer.

………………………………………………………………………

………………………………………………………………………

………………………………………………………………………

………………………………………………………………………

c. If the barometer was taken up to a higher mountain what would happen to the liquid level in the tube? Explain your answer.

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

d. What would happen if a little air leaked into the barometer above the liquid? Explain your answer.

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………
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